

PROPOSAL: 133636

DATE: 03/06/17

PROJECT: 41-177

PROPOSAL FOR:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

INSTALL AT: VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

SALESPERSON: KEN AYERS

CUSTOMER P/O:

QUOTE VALID THROUGH: 04/06/17

#	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
			THE FOLLOWING ARE NEW COMPONENTS REQUIRED TO CREATE (2) NEW WORKSTATIONS IN INVESTIGATIONS ROOM N 200		
1	7	36P244FN	XSITE,24WX4 HIGH,FRAME,NON-POWERED	99.00	99.00
		NP2 STD 425	2 NON-PUNCHED STANDARD GROUP 1,NON-METALLIC SHADOW	The state of the s	
2	1	36P24TCP	XSITE, 24W, TOP CAP, PAINT	9.45	9.45
		C STD 425	CURVED STANDARD GROUP 1,NON-METALLIC SHADOW		
3	2	36P242IT ASC	XSITE,24W,2 HIGH,INSERT TILE,FABRIC,TACKABLE ACOUSTICAL	36.00	72.00
		B 2202	GRADE B RAILROADED LINEN WROUGHT IRON		
4	2	36P241IT ASC	XSITE,24W,1 HIGH,INSERT TILE,FABRIC,TACKABLE ACOUSTICAL	24.30	48.60
		B 2202	GRADE B RAILROADED LINEN WROUGHT IRON		
5	6	36P24PMT	XSITE, 24W, PANEL MOUNTED TRAXX	13.05	78.30
		STD 425	STANDARD GROUP 1, NON-METALLIC SHADOW	144	
6	1	36P241IT	XSITE, 24W, 1 HIGH, INSERT TILE, SLAT	122.40	122.40
****		STD 425	STANDARD GROUP 1, NON-METALLIC SHADOW		



PROPOSAL: 133636

DATE: 03/06/17 PROJECT: 41-177

PROPOSAL FOR:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

INSTALL AT: VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

SALESPERSON: KEN AYERS CUSTOMER P/O:

QUOTE VALID THROUGH: 04/06/17

#	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
7	2	36P424FN	XSITE, 42WX4 HIGH, FRAME, NON-POWERED	119.70	239,40
		NP2 STD 425	2 NON-PUNCHED STANDARD GROUP 1, NON-METALLIC SHADOW		
8	2	36P42TCP	XSITE, 42W, TOP CAP, PAINT	13.50	27.00
		C STD 425	CURVED STANDARD GROUP 1,NON-METALLIC SHADOW		
9	2	36P842IT ASC	XSITE,84W,2 HIGH,INSERT TILE,FABRIC,TACKABLE ACOUSTICAL	112.50	225.00
		B 2202	GRADE B RAILROADED LINEN WROUGHT IRON		
10	3	36P841IT ASC	XSITE,84W,1 HIGH,INSERT TILE,FABRIC,TACKABLE ACOUSTICAL	72.45	217.35
		B 2202	GRADE B RAILROADED LINEN WROUGHT IRON		
11	6	36P84PMT	XSITE,84W,PANEL MOUNTED TRAXX	38.25	229.50
		STD 425	STANDARD GROUP 1, NON-METALLIC SHADOW		
12	2	36P421IT	XSITE,42W,1 HIGH,INSERT TILE,SLAT	214.65	429.30
		STD 425	STANDARD GROUP 1, NON-METALLIC SHADOW		
13	2	36PER210 S	XSITE, PWR, RECEPTACLE, CIRCUIT 2,10 WIRE, SHARED NTRL, CNDR	13.05	26.10
14	4	36W1927B CA	XSITE,19D,2 HI,WORKSURFACE BRACKET,MID-SUPPORT,ADJUSTABLE	65.70	262.80



PROPOSAL: 133636

DATE: 03/06/17

PROJECT: 41-177

PROPOSAL FOR:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

INSTALL AT: VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

SALESPERSON: KEN AYERS

CUSTOMER P/O:

QUOTE VALID THROUGH: 04/06/17

#	QTY	PRODUCT	DESCRIPTION	SELL SELECTION	EXTENDED
		STD 425	STANDARD GROUP 1, NON-METALLIC SHADOW		
15	10	36WBSA	XSITE, WORKSURFACE BRACKET, EDGE, ADJUSTABLE	9.45	94.50
		STD 425	STANDARD GROUP 1,NON-METALLIC SHADOW		
16	2	12S2415P UBBFM	FOOTPRINT, 24DX15WX27H, STOR, PEDESTAL, BBF, FL AT PROFILE, PAINT	270.45	540.90
		E KSB STD 462	EXTENDED SPECIFY CORE SEPARATELY STANDARD GROUP 1,NON-METALLIC CINDER		
17	2	99K0612P	PERKS,6DX12W,PENCIL TRAY,BLACK	9,93	19.86
18	2	-	PERKS, POWER MODULE	71.35	142.70
19	2	99KELDM	PERKS, VOICE DATA MODULE	80.80	161.60
20	2	FBG	FOOTPRINT, GUSSET BRACKET FOR END PANEL	13.50	27.00
		STD 462	STANDARD GROUP 1, NON-METALLIC CINDER		
21	2	IF2427F	FOOTPRINT, 24DX27H, SUPPORT, END PANEL, METAL	120.15	240.30
	mayor and a second seco	STD 462	STANDARD GROUP 1, NON-METALLIC CINDER		
22	2	IBF1	FOOTPRINT, SURFACE, FLAT BRACKET	5.85	11.70
23	2	SS2448WS SL3	FOOTPRINT,24DX48W,SURF,1 3/16T,STR,LAMINATE,WIRE MGR PF	151.65	303.30
		P STD	1/8" MOLDED PVC STANDARD GROUP 1		



PROPOSAL: 133636

DATE: 03/06/17

PROJECT: 41-177

PROPOSAL FOR:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

INSTALL AT: VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

SALESPERSON: KEN AYERS

CUSTOMER P/O:

QUOTE VALID THROUGH: 04/06/17

#	OTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
24	1	425 425 425 *** *** *** SS2460WS SL3 P STD 425 425 425 ***	SHADOW SHADOW SHADOW FOOTPRINT, 24DX60W, SURF, 1 3/16T, STRAIGHT, LAM, WIRE MGR PF 1/8" MOLDED PVC STANDARD GROUP 1 SHADOW SHADOW SHADOW	183.15	183.15
		* * * * * * * * *			
25	1	SS2466WS SL3 P STD 425 425 425 *** 0000000 60.5000		208.80	208.80
		* * * * * *	 		



PROPOSAL: 133636

DATE:

03/06/17

PROJECT: 41-177

PROPOSAL FOR:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

INSTALL AT:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

SALESPERSON: KEN AYERS

CUSTOMER P/O:

QUOTE VALID THROUGH: 04/06/17

#	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
26	2	FND18362	FUNDAMENTAL, 18DX36W, LATERAL FILE, TWO HIGH	443.68	887.36
		E KSB STD 425	EXTENDED SPECIFY CORE SEPARATELY STANDARD GROUP 1,NON-METALLIC SHADOW	100000000000000000000000000000000000000	
27	2	FND18360	FUNDAMENTAL, 18DX36W, STORAGE, OVERFILE	378.00	756.00
		KSB STD 425	SPECIFY CORE SEPARATELY STANDARD GROUP 1,NON-METALLIC SHADOW		
28	2 ⁻	FND1836L FSHP	FUNDAMENTAL, 18DX36W, STORAGE, OVERFILE SHELF, PAINTED	41.58	83.16
		STD 425	STANDARD GROUP 1,NON-METALLIC SHADOW		
29	2	FNDACW	FUNDAMENTAL, COUNTER WEIGHT	91.66	183.32
30	1.	36P24FCL PP	XSITE,4 HIGH,2-WAY, L CONNECTOR,PAINT/PAINT	83.25	83.25
		C STD 425 STD 425	CURVED STANDARD GROUP 1,NON-METALLIC SHADOW STANDARD GROUP 1,NON-METALLIC SHADOW	110000000000000000000000000000000000000	
31	1.	36P24MFS	XSITE,24W,MID-FRAME SUPPORT	14.40	14.40
32	2	36P42MFS	XSITE, 42W, MID-FRAME SUPPORT	23.85	47.70
33	2	36P4ETCP	XSITE,4 HIGH,END TRIM,PAINT	43.65	87.30
		C STD 425	CURVED STANDARD GROUP 1,NON-METALLIC SHADOW		
		***************************************	PAGE 5	<u> </u>	<u></u>



PROPOSAL: 133636

DATE: 03/06/17

PROJECT: 41-177

PROPOSAL FOR:

VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

INSTALL AT: VILLAGE OF ORLAND PARK 14700 S. RAVINIA AVE.

ORLAND PARK, IL 60462

SALESPERSON: KEN AYERS

CUSTOMER P/O:

QUOTE VALID THROUGH: 04/06/17

				3	
#	QTY	PRODUCT	DESCRIPTION	SELL	EXTENDED
34	K	36P42WCP	XSITE,42W,BASE WIREWAY COVER,WITH POWER ACCESS	12.21	12.21
***************************************		STD 425	STANDARD GROUP 1,NON-METALLIC SHADOW		
35	3	KSCD081	UNIV,LOCK CORE-BLK,BLK HNGD KEY,KEY 081	24.00	72.00
36	3	KSCD082	UNIV, LOCK CORE-BLK, BLK HNGD KEY, KEY 082	24.00	72.00
37	1.	LABOR	TO RECEIVE AND INSTALL THE ABOVE COMPONENTS FOR (2) WORKSTATIONS IN INVESTIGATIONS ROOM N 200, NORMAL WORKING HOURS, UNION LABOR, SINGLE TRIP. MID QUOTE VIA EMAIL 03/06/2017	2,170.00	2,170.00
			Thank you for the opportunity to quote on you	r requiremen	ts
	, 100 mm			PRODUCT	6,318.71
			DEPOSIT REQUIRED: 4,244.00		
			ACCEPTED BY:	LABOR	2,170.00
			DATE ACCEPTED:	TOTAL	8,488.71

TERMS AND CONDITIONS

1. PROPOSAL IS VALID FOR 30 DAYS

- A deposit of 50% of total purchase price is required to place order. Balance is due 20 days from invoice date. Invoices will be sent upon shipment of the majority of the furniture and are due regardless if jobsite is not ready to accept furniture or if project is delayed for any reason. Any unpaid balances will be charged at a rate of 1.5% per month on all past due balances and will be payable upon demand by Office Revolution, LLC. Credit card payments will be assessed a 3% fee. Any balance withheld for resolution of punchlist, must be limited to the value of the aforementioned item. Any taxes that Office Revolution, LLC is not required by law to collect, but are due on merchandise purchased under this agreement are solely the purchaser's responsibility and will not be collected by Office Revolution, LLC from the purchaser.
- 3. Office Revolution, LLC hereby assigns to purchaser all assignable warranties of the manufacturer of the products sold under this agreement. Office Revolution, LLC makes no warranty of any kind, expressed or implied, written or oral, and expressly disclaims any implied warranty of merchantability or fitness for a particular purpose. Office Revolution, LLC may cancel the contract at any time for non-payment or lack of supply, but the purchaser's order once placed, is non-cancellable. No alterations of, nor alterations to, this agreement shall be binding on either party, unless hereon or evidenced by a written memorandum signed by both parties
- 4. Manufacturers' shipping schedules are quoted in good faith. Office Revolution cannot however be held responsible for the inability of a manufacturer to meet a given schedule, nor delay in performance of this agreement when caused by state of emergency, strikes, lockouts, accidents, delays in transportation of workers or materials or other causes beyond its' control.
- 5. Purchaser shall provide without cost; necessary light, heat, electricity, timely elevator service and adequately secured facilities for off-loading, staging, moving and storage of merchandise and associated equipment. Any loss, destruction, theft or damage to any of the articles or merchandise described herein, after the same reach the premises of the purchaser, shall be borne by the purchaser.
- 6. IN NO EVENT SHALL OFFICE REVOLUTION, LLC BE LIABLE TO PURCHASER OR ANY OTHER PERSON FOR ANY INCIDENTAL, CONSEQUENTIAL OR SPECIAL DAMAGES RESULTING FROM THE USE OF OR THE INABILITY TO USE THE GOODS COVERED HEREBY WHETHER ARISING FROM BREACH OF WARRANTY, NEGLIGENCE OR STRICT LIABILITY.

ORDER SPECIFIC TERMS & CONDITIONS

All furniture will be received, warehoused, re-delivered to the jobsite and installed during normal working hours. If any overtime is required, the cost will increase to reflect overtime rates. Product will be held up to 30 days at no charge. Merchandise held beyond that time will incur an additional charge.

All areas receiving new furniture will need to be free and clear, allowing installers to place furniture directly in place.

Proposal is based upon exclusive use of buildings freight elevator at no charge to Office Revolution.

Proposal is based upon union labor.

Price includes removal of furniture cartoning material and debris from the jobsite.

Proposal does not include electrical wiring of furniture.

Wiring of computers and telephones is not included in proposal.

To proceed with order placement, send signed proposal or Purchase Order and required deposit to Office Revolution at 2610 Lake Cook Road, Riverwoods, IL 60015.

I have read, understand and agree to the terms and conditions of sale as specified in the Furniture Purchase Agreement.

	133636
Authorized Signature	Proposal Number
	\$8,488.71
Print Name & Title	Total Project \$ Amount
Date	

